(20

= ] Tme? "@yg(suxé%ﬁ
= T2 (g oF
= [Zod-dont| et [ —gfl 5 &

0
= gt T 4d [[ost Mk ]
/ U Vzu\)'—fu"lf

o —ﬂ(e 5‘&7)(::—5) ég A‘tj

- = 3] st iL)e

(—“

{os‘nd é_e@: [ 24 _w*“ e st (7(
Ky - —LeA St
fnﬂm at S’-H(_S-r&% T
- e KL

S = o *'s°+\ < I"’

LO’“ _H'lesvt | 01’?‘1&3
= e T 1| |

8

°

- S5
\i{’F(*‘)]I: §3% (I+e ) , S




(1.1)

4 :_>.J.?(+)= {,"}_, oLte]
N c , tx|
i.HZ&)) - ﬁ’o 7((+) e It

= J %) Sttt Do) &F ot

g
-
g —
A

I
X
a,

AL

{4




(7:1)
32

f#)= o534 + S 2.7i

2
6(5) = I~ Wi

:ﬂ{ w35+ Sin u—j
S
Spe S“—réc %

—




Chl)

42

foo —I _
dt L (b
17,8 V"
TCt) = (2% et
= e T[? - (e at et
= M o [PHHISHIE | g
= [o-08] +ot [

= uTw)

J{tx} = [Pt

Zst 5 du=sdt
fw() ~ul




